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3DDEE
smIEtE (AND) smiEF] (OR) EE (NOT)
0:0=0 0+0=0 0="1
0-1=0 1+0=1 1=0
1:0=0 0+1=1
1+1=1 1+1=1

EBE, mEE, REMOIETER, (V1) TCIEEE
— 1+(0*1+1)*1 = 1+(0+0)=1 = 1+0+1 = 1+0 = 1
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f(A,B)=A+B f(A,B,C)=A+B-C
A B | ¢ A B C| f
0 0 0| 1
0 0 1 0 0 1| 0
0 1] 0 0 1 0| 0
1 0| f o 1 1] 0
1 1 1 1 O O 1
1 0 1 1
1 1 0] 1
1 1 1 1
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la) A-A=A X a kb OWKHEIEE
1b) A+ A=A
2a) A-B=B-A
2b) A+B=B+ A
3) A=A
4a) A-A=A - A=0
4b) A+ A=A+A=1
5a) A-(B+C)=A-B+A-C
5b) A+B-C=(A+B) (A+0)
6a) A+ B=A-B }
- A D kBT YD
6b) A-B=A+B TR
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5b) A+B-C = (A+B)-(A+C) DFE:R

A B C | B-C A+B-C A+B A+C (A+B)+(A+C)
0 0 0 0 0 0 0 0
0 0 1 0 0 0 1 0
0 1 0 0 0 1 0 0
0 1 1 1 1 1 1 1
1 0 0 0 1 1 1 1
1 0 1 0 1 1 1 1
1 1 0 0 1 1 1 1
1 1 1 1 1 1 1 1
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f(A,B,C) = A(BC +C) (1> DHBEEHICER DR
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fl) f(A,B,C)=A-B+AC+C
— AB+ C o IERER
= (A+C)Y(B+C) ... ZFEiZ#E£R

TR T E-F4E TT-IREY 10



&/NEERKIR
/M8
- BREHE—DOIOELHBPENE
- {5)2%# AB,AB.AB, AB
- ARREICEE
- wmIEIEIIBRGEEEK: A- B — AB
- R/NMNETHOEEDREISE
AB=A-B# AB=A-B
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A B ABC | ABC | ABC | ABC | ABC | ABC | ABC | ABC

0 0 1 0

0 0 0 1

0 1 0 0 1

0 1 0 0 1

1 0 0 0 1

1 0 0 0 1

1 1 0 0 1

1 1 0 0 1
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Bl f(A,B,C)=AB+C

— ABC + ABC + ABC + ABC + ABC

A B C AB+C f
0 0 0 1 1 ABC
0 0 1 0 0
0 1 0 1 1 ABC
0 1 1 0 0
1 0 0 1 1 ABC
1 0 1 0 0
1 1 0 1 1 ABC
1 1 1 1 1 ABC
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A B C | fABC)

0 0 0 0

o o 1| (O—>ABC —

0 1 0 0

0o 1 1 0

1 0 0 0

0o 1| (O—ABC

1 1 0 0

111 (O)— ABC l

(%) f(A,B,C) = ABC + ABC + ABC
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A EMEF (NOR), & mEETR (NAND), HfthrGHE
F1(EXOR, XORLGEERED)

A B NOR | NAND 1k 4th B4 S 2R A
0 0 i 1 0
0 1 0 1 1
1 0 0 1 1
1 1 0 0 0

NOR%E LLIENANDD—FEFE CIANTDRIBER ZRIATES

NOR NAND

A-B=(AdA)ed(BpB) A-B=(ARB)®(AR® B)

A4+B=(A®B)s(AeB) A+B=(ARA)®(B®B)
A=A3 A A=A® A
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A(BC + C) = ABC + AC < (5a)
= ABC + A(B+ B)C € (4b) (A - 1=A)
= ABC + ABC + ABC <« (5a)

= ABC + ABC + ABC + ABC <« (1b)

la) A-A=A

1b) A+ A=A _ L
2a) A-B=RB-A = AB(C+(C)+ A(B+ B)C & (5a)
2b) A+B=B+ A _

5 Toa = AB + AC € (4b)

4a) A-A=A-A=0 _ o

ab) A+ A=A+ A=1 = A(B+0)

5a) A-(B+C)=A-B+A.C

5b) A+B-C=(A+B) - (A+0O)

6a) A+ B=A-B

6b) A B—A+B
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